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Standard ML

Common Lis 2 S Haskell
P OCaml
Scheme
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AT HMER
Java
Ruby Smalltalk
C++
Python
Pascal
Perl
FirEi
Eg LA
‘ Prolog  LiLFeS

(Original figure courtesy of E. Sumii. Slightly modified by authors)
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o RUNEREY7EBY{H T (Strong Static Typing)

— gy = BIREZ5ETHITH
o AERYIS—TREMNMERIZELLLY
— Cf. HLVEUFHIT (e.g. C, C+4)
— 88975 =V N\AIILEFIZREZFIvIT 5
o« EITEDA—/\—~NYEHLLY
— Cf. BYA97% Bt 1T (e.g. Scheme, Perl)
o RUMESH
—7°D7‘\57liak§ﬂw BEEMNGELTERN

o BIZH (B ZRETE: Parametric Polymorphism)
— % 2|8 Tﬁ‘FDR
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A3 T) 2D EE

e BB/ —rPCIZIEA YV RAM—ILEH
« T Y (csc, csp) ITHA U R—ILIEH

¢« TDMDTLUEFIGEITZEA AL
— Unix
o IN\YT—U%FFIAT S (Ubuntu %85 apt 1)
o« Y—ZAMBaAVIINMILT B
— Windows

e BRIASNTWANAFYZFIHT S
e Cygwin B AV A—ZZFFEZAIEANBNS
o J—AMBIAaA /N1 )L (VC, mingw32)




AR T)ADFELNA

A3 T) 3% FCE)

$ ocaml
Objective Caml version 3.12.0
K “1+27FA403TARIC
#1 + 2;; M S

- : int = 3 -
EMMAE R DEIX3IT
5 AD THDHEIIBHTHDS

Ctrl-D E£71=1% “exit 0;;” TT



J7A4ILIZEWNVE=-705 S LOFFE

EIEXZTITO>HKHYIC
TYRNI 7L VDA%
HAIAFBTLHEMNTES

# #use "test.ml";;
- + int = 3 “test.ml” DH 5:

. _ 1+ 2;;
: float = 7. 3.0 +. 4.0;;




EARXENDIEX(SE)

o AN, B ZEN/N A, TJ—ILEE,
LeEEE, T2, A, s,
XEFH| A7)V, YRR




OAARDESZTA

o (k& *) DREIZTAVMELTERAIND

# (* comment *) 2 + 3;;
- ¢ int =5

¢ TAEANFIZELTES (C TIETERELY
# 1 (*+ 2+ (*3 + *)4*) + 2;;
- ¢ int = 3




BEHUEZZRT I\

# 3;; (* BREIZRI K= EITHE.. *)
- : int = 3 (* BHFEIMERINSD *)

# 12345678; ;

- : int = 12345678

# 0x12345678;; (* 16#ERBLHFEZD *)

- : int = 305419896

# 0b101010;; (* 2EXRBFHLFEZS *)

- : int = 42

# 001234567;; (* SERIRELEZS *)

- : int = 342391



[~ - N - - - N~ - - I~ - N - - N - - R - - -

BHEEERT

13 + 455 (* 1 : T=K1 + =1 *)
: int = 17
13 - 4;; (* 2 : K1 - TK] *)
: int = 9
13 * 4;; (* F&: =1 * THK1 *)
: int = 52
13 / 4;; (& X1 / TK1 *)
: int = 3

13 mod 4;; (* & : =1 mod =] *)

: int =1 _ ‘

-(13 + 4);; (* FERER : -1 *)

: =17

(3 +5) %8/ -4;; (* {ENTHESIEOLEER *)
: int = -16



FEN/PNRRBEZRT

# 3.1415;; (* {E3.14152KR I KZ5F T 5E.. *)
- : float = 3.1415 (* {E3.1415HAHREN D *)
# 3.1415e-10;; (* IBHRBFELFEZD *)

- ¢ float = 3.1415e-10

# infinity;; (* FEEX *)

- : float = infinity

# nan;; (* Not a number *)

- ¢ float = nan

# epsilon float;;

- : float = 2.22044604925031308e-16

uml

~e
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,;E—jjlj\*ﬂll \%é ;¢~£E§TT
« MBERIFBHEEGHSEREFZZRHISD

# 13.0 +. 4.0;; (* #: =Xl +. =X *)
- : float = 17.
#13.0 -. 4.0;; (* &£ : =1 -. T *)
- : float = 9.
# 13.0 *, 4.0;; (* &7 =1 *. ] *)
- : float = 52.
#13.0 /. 4.0;; (x @ x> / Tl *)
- : float = 3.25
# 1.41421356 ** 2.0;; (* FJFE : L] ** T *)
- ¢ float = 1.99999999328787381
# 13.0 + 4.0;; (* BHEEILEEOINLLY *)
Error: This expression has type float but is here

used with type int
# 13 +. 4.0;;

Error: This expression has type float but is here
used with type int



J—I)LEZERT X

# true;; (* J—JLEtrueZRI RZFET SE.. *)

- : bool = true (* T—IJL{EtruehIRENS *)

# false;; (* 7—IL{EfalseZzRIRZILMET H&.. *)
- : bool = false (* J—/LfEfalseh RSN SB *)



r ¥ 1 H ' H O H o1 H ' H

EEEEERT

= 3;; (* F5: K] ==X *)

: bool = false
.0 <> 3.0;; (* FEBEDATE : K1 < K] *)
: bool = true

<355 (X AEHEF Ky < TR *)

: bool = true

.0 <=5.0 ;; (* FFF : K] <= K] *)
: bool = true

.0 > 5.0;; (* AFEF . T > T *)
: bool = false

.5 >= 3.5;; (* AFEF : K] >= K] *)
: bool = false



_)l//hﬁ%i%j-_t

# 2 <38 2.0 >= 3.0;; (* wWEEIE: T && K] *)
- : bool = false

#2 <3 || 2.0 >=3.0;; (* @wEER : T || TK1 *)
- : bool = true

# not false;; (* &% : not ] *)

- : bool = true




KBEEERT O\

o MYTLARIIZEHEZEET S
# let alice = 3;; (* let IZE#Hy = K] *)
val alice : int = 3
(T T IZFHEL =R DOEICT ERIZRE *)
# let bob = 1.41421356 ** 2.0;;
val bob : float = 1.99999999328787381
# let charlie = nan nan; ;
val charlie : bool = false




AW

# let root 2 = 1.41421356;;

val root 2 : float = 1.41421356

# root_2 ** 2.0;; (* Z&lroot 2]ZAWVE=KZETME *)
- ¢ float = 1.99999999328787381

# let r = root_2 ** 2.0;; (* ILICEHERETES *)
val r : float 1.99999999328787381



BATRICEEEEERT o

o [FZHEE

MRESN-EHEEERT S

(* let 2] = 1) in [R2)
1 1ZFHEL =B RICIERIZRELT

22 %571+

# let x = 3 in|x + x |;;

- :int = 6 E#Ix] &

# x;; —DEFHRRNTDH

Error: Unbound value Xx

# let x
let
- : int

I FA A 5E

= 3 in (let x = 5 in let x =
X =X in X + x in X + X) + X33
= ?



B2 (closure) &9 =,

(* BA#ERZ: fun TEHGIE) ] -> TH(EKE) L *)

# fun X -> xX + 2;;

- ¢ int -> int = <fun>

# fun xy -> x +vy;; (¥ fun x -> funy -> X + y *)
- : int -> int -> int = <fun>

# let pi = 3.1415;;

val pi : float = 3.1415

# fun r -> p1 *. r *, r;;

- ¢ float -> float = <fun>



let RZE=AL-BEA#DEE

(* BREE:
let T (BEA#B)ITEH(5IF)] .. = TH(KREK) ] *)
# let add xy = x + vy;;
val add : int -> int -> int = <fun>
(*Tlet add = fun x -> funy -> X + y;;
EFLWV(AY—1E)*)
# lety = 2;;
val y : int = 2
# let add2 x = x + y;;
val add2 : int -> int = <fun>



208 A (P ) &2 &R 9 =

(* BEZGERA (FFE): T=X14M=x2]1.. *)

# (fun x -> X + 2) 40;;

- : int = 42

# let add Xy = x + vy;;

val add : int -> int -> int = <fun>
# add 40 2;;

- : int = 42

# let £ = add 40;; (* TEHERH] *)
val f : int -> int = <fun>

# f 2;;

- : int = 42




KDk ZERT I

(* g if ] then 1] else K2 *)
# if 42 > 156 then 1 else -1;;
- ¢ int = -1
# let abs x =
if x < 0 then -x else Xx;;
val abs : int -> int = <fun>
# abs 10;;
- : int = 10
# abs (-10);;
- ¢ int = 10



(* BIREZE

BIRE#ZTHROIN

(XK nH
let rec TEE(BAER)ITE#(5I1%) ..

# let rec pow

X n =

if n = 0 then 1

else x * pow|x (n -
val pow : int -> int
# pow 3 10;;

- : int = 59049

# pow 3 (-1);;

3

1)5;
-> int

<fun>

TTEHSBERZEEIEBHD

qiﬂ%, .
[ (ARK) 1 *)

Stack overflow during evaluation (looping

recursion?).



RAEBFREREKIZTSHLE..

# let pow x n =
let rec powsub v n =
if n = 0 then v
else powsub (v * x) (n - 1)
in powsub 1 n;;
val pow : int -> int -> int = <fun>
# pow 3 10;;
- : int = 59049
# pow 3 (-1);;
~“CInterrupted.
(* T IEESELDT ctrl-c ZAALE *)




MEBRERZHOI

(* let rec I'EZE] and TEE] .. *)

# let rec|even|x = if x = @ then true
elsefodd | (x - 1)
if X = 0 then false
else [even| (x - 1);;
val even : int -> bool = <fun>

val odd : int -> bool = <fun>

# odd 5423;;

- : bool = true

and lodd | x




¥ 1 #

+H

XFIEZZRT I

"0'caml”;; (* "I TEFABAOXTIERT *)

: string = "O'Caml"
"Hello, world!";;
: string = "Hello, world!"

"Hello, world!\n";; (* BATXFMN\nIHLERT *)

: string = "Hello, world!\n"
"Hello, \"O0'Caml\"";; (* SIFAF

: string = "Hello, \"O'Caml\""

I\" JBEHTA *)



XFIEREFERIT

# "Str" A "ing";; (* XFHIERE : X1 ~ T *)
- : string = "String"

# print_string;; (* XFHERTTHEEH *)

- : string -> unit = <fun>

# print_string "Hello, world!";;

Hello, world!- : unit = ()

# print_string "Hello, world!\n";;

Hello, world!

- unit = ()




27)L ($) EQXEREZRT

(* 3TI)ILDER : (TxX11, T=K21,..) *)

# (3 +5, 5.0 -. 1.0);; EREHITRYS

- ¢ int * float = (8, 4.)

# (3, true, "A");;

- ¢ int * bool * string = (3, true, "A")
# "Answer", 42;;  ZEEFFEHLYDFEIMIELELTHKL

- : string * int = ("Answer", 42)



FTIWED R ERFEERT

# let v = (3, true, "A");;

val v : int * bool * string = (3, true, "A")

(* 3TILDHE: let (TEH1),TEH21,..) = THK1. *)
# let (x, y, z) = v;;

val x : int = 3

val y : bool = true

val z : string = "A"

# let (, wy, ) = v in if w then 42 else 156;;

- : int = 42

- ¢ int = 3
# snd (3, 2.9);; 2EBRITIVIE
- : float = 2. fst, snd B#(TE

PHEZEZRMYLHES



JAMED £ ZETFRT
e YRRERTHK: [IR11; TRK21; TKX31; ..]

# [155 (* ZUREL*) N -
_ . la 1iSt - [] ho)r aJ'uOL\—C(i

: ~ “ RE\'
# [2; 3; 5; 7; 11]1;; RE LAREERBALE
- : int list = [2; 3; 5; 7; 11]

e ConstILEFERI=: 1] :: 2]

#1 :: []55 _
- : int list = [1] FIEGE<TEH LKL

1 20 (2 :: (3 ::101));5
- : int list = [1; 2; 3]
» VAMDERFERI N [H1] @ [R2]

# [1; 2] @ [3;5 45 5];;
- : int list = [1; 2; 3; 4; 5]




JAMIETAEE

 YRFDEBEREFTRTRALET
i RIERES A

# [1; 25 3];;

- : int list = [1; 2; 3]

# [1; true; "hoge"];;

This expression has type bool but is
here used with type int.
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INR—2XTF T ElE?

» [ED [/NF2—2 | TUEZRIRSEDIE

(* match T with | T/x2—>1] -> K1)

| T/5—>2) -5 T2 | . *)
# let rec fib n =
match n with
0 -> 1
B DRET | 113 1->1
LEELTHEL x -> fib (x - 1) + fib (x - 2);;

val fib : int ->» int = <fun>

JEFIZ/NEZ—UZTyTFTEMNZTHIELT
RUFLEoXIGT HRZETET S



INI—2 DFELE

TEEINF—2
RHRBINF—
OR /\3—

BT IJLINA—2
JRARINZ—
JAILEH—F



TERNA—2 & TR

¢ BE/NFI—
— B (—H T L oK)
o TR INGFI—
—-EEDEIZIYF

— T YF LI {EIEZARIES

# let rec pow X n =
match n with

| 9

val pow :

-> X * pow X

int

-> int

0 C{s AR gE

- 1);;
-> int = <fun>

0

\l



OR/\Z—2

+ BHD/NE—2DOB
— D THEIYFINIL OK

# let rec fib n =

match n with

|l o] 1->1

| x -> fib (x - 1) + fib (x - 2);;
val fib : int -> int = <fun>




RT)LINA—

s ITILDEZFNEFNLITYFINIL OK

— EHERENI—2EAEHET
BEEORMHBLAAEE

# let scalar n p =
match p with
(X: Y) -2 (n * X, n* Y)S_;
val scalar : int -> int * int -> int * int
# scalar 3 (2, 3);;
- ¢ int * int = (6, 9)



) A R/IN—>

e« ZTYXKL[ & ConsZIL 12 D
ZDODINFI=UDBH B

# let rec sum 1 =
match 1 with
[] ->©
| hd :: t1 -> hd + sum tl1;;
val sum : int list -> int = <fun>
# sum [1; 2; 3; 4; 5];;
- ¢ int = 15



TAILEA—F ()

s EFEDIEICTYTF
— IyF LI ENEHONGRNZEEFBRL TS

# let has_single element 1lst =
match 1lst with
| [_] -> true
| _ -> false;;
val has_single element : 'a list -> bool = <fun>



H—RK
o« INF—UICEKHBZEMT DIEHEHS

# let is _diag p =
match p with
| (X, y) when x =y -> true
| _ -> false;;
val is diag : 'a * 'a -> bool = <fun>
# is_diag (3, 3);;
- : bool = true
# is diag (3, 4);;
- : bool = false



M ERICEITAHANI—2IYF

* let (rec) %2 fun DR BIZHER 7 21T
INF—2%ETH

# let thd (., , z) = z;;

val thd : 'a * 'b * 'c -> 'c = <funm>

# thd (3, true, "hoge");;

- : string = "hoge"

# fun n (X, y) -> (n * X, n ¥ y);;

- ¢ int -> int * int -> int * int = <fun>




function I\,

« 5|%%E 1 EAZ(THY
INF— I F 1T BT 1ES

# let rec fib = function
| o | 1 ->1
| x -> fib (x - 1) + fib (x - 2);;
val fib : int -> int = <fun>
# let rec pow x = function
@ ->1 | n->x*powx (n-1);;
val pow : int -> int -> int = <fun>




ENITBLIYFLIEWMEL HDIEE

2 WEZEZFITHET D
# let flip x = match x with INR—2 DV

9 ->1 |1 -> 0;;
Warning P: this pattern-matching is not

exhaustive. Here is an example of a value that

is not matched:

val flip : int -> int = <fun>
# flip 2;;
Exception: Match_failure ("", 1, 13).

RITIDEMS DD



/ \9 /€E<J:—Cd)/3ﬁ

e 1 ED/NI—2h(CRICE#HE
2 LA EFESSEIETERGL
# let is diag p =
match p with xZ 2[EIfEALLSELTLNS
(X, x) -> true | _ -> false;;

This variable is bound several times in this
matching.

« AR &SIH—REREZIE OK
# let is diag p =
match p with
(X, y) when x =y -> true | _ -> false




/ \9 /§E<J:—CO)/I,D\

* OR TOUEMNDZZTNEND/NFI—2TIE
RIET DR —ELGEIT LR 7R

_ | oBfHEIT
# let £p= y HAERBENTLVRL
match p with

(1: X, y) | (2: X, _) -> X5
Variable y must occur on both sides of this |
pattern.



INI—2HFECETODFEE

s EZRNT=-E#H%
TFEHNFI—2ELTHESIZEIETELLY
— EHEREINI— LS TLESDTEE

# let x = 0;;
val x : int = ©
# match (1, 2) with
| (x, ) -> true
| _ -> false;;
Warning U: this match case is unused.
- : bool = true



LAR—KZDUNT

- HeER 2 BEREILAIZIZET

o #HHYIY) BT

« BEIA—ILITFLLTDT7RLAET:
ml-query-2011@yl.is.s.u-tokyo.ac.jp
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LAR—MEHR EDFE (1)

« IRHEAE: 5

5 FA—)L

— B3E5%: ml-report-2011@yl.is.s.u-tokyo.ac.jp

« ZrRIEA

Subject %
Report <

L9 AHLE

MBRESNDIET EDTHERDIE

LiR—rE B> <FHEEFES>

—BIZ XS [E

DiZE L

Report 1 110xx
~BIZ—DF DRAR—REAND_E



LAR—MEH EDFE (2)

o LIR—KZEHAIRELD
- KA. FEIAES
~Y—2Z
« JAVMEEEMRL., FEAROIEEHRHAT L L
— B{ESI
s JOTSLNELLEMET B EEFTRT DI
SEHLWVElZEZ S E
— E
« ZRABLIEEINTWSEEZBRE. LT AND
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= 1[0]

#54]: 4/19 13:00 (B ANFEHERS)




2l 1 (BRAE 125)

IEDE nZZITHRST n DIEEZKROHS
BE%L fact : int -> int ZZEI(T

 ZODNIEDNDEHDZ R Z RO HE R
gcd : int -> int -> intZElT
. IEDEY n AR EOITHITET HEHN

—

isprime : int -> bool Z&EIT




|:|§I< 2 (%T%Z:g . 8;'%)

a. A FZ=Z(TH-T
fZ 2 BAERT SR ZTIRI AL
double ZZE [+

b. B% f LEH n ERITHOT
fz nBERT SEHZRI EE
repeat & I7T




B 2 DHl

# let addl x = x + 1;;

val addl : int -> int = <fun>
# let add2 = double addil;;
val add2 : int -> int = <fun>
# add2 3;;

- ¢+ int = 5

# let add5 = repeat addl 5;;
val add5 : int -> int = <fun>
# add5 3;;

- : int = 8

il



SREE 3 (55)

» B FZRITIOT f 2B RIICEREBIEKRT S
BRI EH fix 2T
s FIXIEA#ZEZTROTE#BZRITEHILHRELTEL
— UTDEIGAA—D
fix f=Ff (f (f (f (£F (f (f ...))))))
— 1%4 15“
# let fib = fix (fun g n ->
if n <= 2 then 1
else g (n - 1) + g (n - 2));;
val fib : int -> int = <fun>
# fib 10;;
- : int = 55
— let rec #E->T&kLY

—y




SREE 4 (202)

c FEDOREAM FIZDL\T
iRRA3DEEEL fix M
B f DAERZTIRT CEFEERAE KL

XTI ZZ TR TRARZRY B2
ERELTELY



I:IEF 5 (8}%\)

2 B £ &ME 2 EYJRE [a; a,; -3 a,] Z2(TEY

f (f (e (f 2z @a;) ..) a,.;) a,

fold left: ('a -> 'b -> "a) -> 'a -> 'b list -> 'a

2 BEEEE £ EVARR [a; a,; 3 a1 ElE z 7252 FEY
fa (. (fFa., (fa,z)).)

3
2RI

fold right: ('a -> 'b -> 'b) -> 'a list -> 'b -> 'b

8T



Z2%E 5 (151)

# fold left (-) © [1; 2; 3; 4; 5];;
- : int = -15

# fold right (-) [1; 2; 3; 4; 5] O;;
- : int = 3

# let flatten x = fold left (@) [] x;;
flatten : 'a list list -> 'a list

# flatten [[1; 2]; [3; 4]; [5; 65 7]1;;
- : int list = [1; 2; 3; 4; 5; 6; 7]

s CBOPEEBERFIIRESZREIMTHOIETHAELTHEZS
- BATERT H_LELTED
# let (%) x y = x mod y;;
val ( % ) : int -> int -> int
#5 7% 3;3;
- ¢ int = 2



d.

SRTE 6 (12/)

“ODINVAMEZITRYZEN T ERGT SRR

append : 'a list -> 'a list -> 'a list
zET
« L. @ ZELTIELMFZRL

HIERERE) RN EZITRYTDIRANDERDSS
HEEHZmI-IEBERETHILED)ANAERT HER
filter : ('a -> bool) -> 'a list -> 'a list

2T

R7(ZERDITIL)D) A%
JALDARTIZHENT HE

split : ('a * 'b) list -> 'a list * 'b list

&




ol

278 6 (17

# append [1; 2; 3; 4] [5; 65 7];;

- : int list = [1; 2; 3; 4; 5; 6; 7]

# filter isprime [1; 2; 3; 4; 5; 6; 7; 8];;
- : int list = [2; 3; 5; 7]

# split [(1, 2); (3, 4); (5, 6)];;

- : int list * int list = ([1; 3; 5], [2; 4; 6])



BA R

=rid 7 (105)

5. n% L/T'Eg'ﬁfﬂiﬁ

— ELIRZAGWGE X

i1

IF LS/ ADEDIZEL

:«zélooooooouJ:ODUXIJé
J._ LG&Z_%)?ﬁ\ﬁf aic» 'ﬂ-J:

F & &




H%F: E; (Eiﬁgi)

o JRAF 1st LB nZ=F(THY

Ist MoERZ n ERYETHEAGLEZR
JAMILTRI B

comb : "a list -» int -» 'a list list

EEERLE X

# comb [1; 2; 3] 2;;

- ¢ int list list = [[1; 2]; [1; 3]; [2; 3]]
# comb [1; 2; 3] 0;;

- ¢ int list list = [[]]

# comb [] 3;;

- ¢ 'a list list

[]
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